YRR29F3H5H

E—BHIN SME (1188)

AfRLF 25 -0 (408)

gLz K 2 OUT| IN |GROSS|HDCP| NET
1 ®ik =9 38 38 76 10 66
2 (EiE = 35 41 76 8 68
3 2R #HZ 39 38 77 9 63
4 B8 X&F 44 36 80 12 68
5 KE il 37 | 40 77 8 69

N ~JOR

BG A0 BEig 40 36 76

B#{kLF+a2S>5—D8 (38%)

gLz K 2 OUT| IN |GROSS|HDCP| NET
1 HIl RE 41 49 90 30 60
2 = KE 51 43 94 25 69
3 Bd = 41 44 85 15 70
4 wWE =& 49 39 88 17 71
5 =) E 46 44 90 18 72

N +Z0OR

BG B R= 41 44 85




E— BRI TH29%E3858

TISVRIZP « UT 1 —RADEB (408)

g iz K 2 OUT| IN |GROSS|HDCP| NET
1 AH =|SE 43 39 82 22 60
2 AR 6 48 44 92 29 63
3 = EARR 42 38 80 14 66
4 WX g3 48 48 96 30 66
5 FR BfE 48 48 96 30 66

N +Z0OR

BG = HEARR 42 38 80
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